Unattended Run Timegcrap = Build Unattended Time * Yield losSSscrap

Unattended Run Timerework = Rework Unattended Time * Yield
loss rework
Cycle Time Per Lotiheoretical = (HPU¢theoreticar ~* Lot Size) + Build

Unattended Time

Cycle Time Per Lotscrap = ((HPUscrap * Lot Size) + Unattended Run

Time scrap )

* Cycle Time Adjustment

Cycle Time Per LoOtreworkx = ((HPUreworx * Lot Size) + Unattended Run

T j-Inerework )

* Cycle Time Adjustment

Cycle TimePer Loticrar = (Cycle Time Per Lotihecoretical * Cycle Time
Adjustment)

+ Cycle Time Per Lot gcrap + Cycle Time Per

Lotrework

Cycle Time Per Lotqiwe = [ (HPUmimp * Lot Size) + Unattended Run

Timegcrap

+ Unattended Run Time,cwork + Build
Unattended Timel
* Cycle Time Adjustment

Cycle Time Per Lotyya = ((HPUyya * Lot Size) + Unattended Run

Tilmegcrap

+ Unattended Run Time€r,cwork) * (Cycle Time

Adjustment

Cycle Time Per Loty nva = (Cycle Time Per Lotywa / Cycle Time Per

I-'Ottotal) *100



